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2.1 SI

m 299, 792, 458 

1983

kg

1889

s 133

1967

A 1

2 � 10 7 1948

K 1/273.16

1967

mol

0.012 kg 12

1971

cd 540 × 1012 Hz 

1 683

1979



2.2 SI

SI 

min 60 s

h 60 min = 3600 s

d 24 h = 86400 s

y 365.25 d = 3.156 × 107 s
o 1o = (�/180) rad

L 1 dm3 = 10–3 m3

t 103 kg

c 200 mg

bar 0.1 MPa = 105 Pa

Ci 3.7 × 1010 s–1

R 2.58 × 10–4 C kg–1

q 100 kg

b 100 fm2 = 10–28 m2

a 1 dam2 = 102 m2

ha 1 hm2 = 104 m2

atm 101 325 Pa = 1.013 × 105 Pa



���

��

��

� 	 �

��




�

��

� �

� ��

��

��

��

�� �

�� ��

�� � �

�

�

�

�

�

�� ����

� �

��� � �



�

�

�

�

� �

��







�

 � �


 �
�





 � � �


 � �



�

�

�

�

�

2.3

(m)

10–15

10–14

10–10

10–8

10–7
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104

107
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ERROR: stackunderflow

OFFENDING COMMAND: ~

STACK:







ERROR: undefined

OFFENDING COMMAND: ‘~
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4.1 (a) (b)
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4.2 (a) A B, (b) A

B

4 3 a A

b A

1 1 5

4 4 a A B, b A B c B A
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ERROR: stackunderflow

OFFENDING COMMAND: ~

STACK:







ERROR: undefined

OFFENDING COMMAND: ‘~

STACK:
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i j k

ˆ ˆ ˆ(5 4 3 )� �i j k
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= 	A = F(x)
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